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call:

Im(formula = consumption ~ gdp)

Residuals:
1 2z 3 4 5 b
3.3987 -9.2889 -0.1983 7.5074 2.3414 -3.7604

Coefficients:
Estimate std. Error t value Priz|t|)

(Intercept) 34.07782 33.19059 1.027 0.363
gdp 0.48396 0.02468 19.606 3,9%e-0Q5 =u*
Signif. codes; © '===! g.0p01 ‘== g.01 **' 0,05 *." 0.1 ' ' 1

Residual standard error: 6.593 on 4 degrees of freedom
Multiple R-squared: ©0.9897, Adjusted R-squared: 0.9871
F-statistic: 384.4 on 1 and 4 DF, p-value: 3.9%1e-05
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call:
Im{formula = lconsumption ~ 1gdp)

Residuals:
1 2 3 4 5 3]
0.0057874 -0,0146720 -0.0004358 0.0106143 0,0033466 -0.0046404

Coefficients:
Estimate std. Error Tt value pri=|t|)

(Intercept) -0.2970 0.3505 -0.847 0.445
Tgdp 0.9476 0.0487 19.457 4.11e-05 ==%
Signif, codes: O "#%&%'Q Qg1 **+% g 01 “** 0,05 %, 0.3 * * %

Residual standard error: 0.009929 on 4 degrees of freedom
Multiple R-squared: 0.9895, Adjusted R-squared: 0.9869
F-statistic: 378.6 on 1 and 4 DF, p-value: 4.114e-05
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par(mfrow=c(2,2))
plot(year, gdp, type="l", main="GDP of Korea(2000-2016)")
plot(year, consumption, type="I", Ity=2,main="Consumption of Korea(2000-2016)")
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> X<-C(2,3,4,5,6)
> y<-c{4,4,6,6,10)
> (mx=mean{x))

[1] 4

> {(my=mean{y))

[1] ©

> (dx<-x-mx)

1] -2 -1 ¢ 1 2
= (dy<-y-my)

11 -2 -2 0 0 4
= 0ls<-Tm{y~x)

= summary(ols)

call:
Tm{formula = y ~ x)

Residuals:
1 2 3 4 5
8.000e-01 -6.000e-01 -4.441e-16 -1.400e+00 1.200e+00

coefficients:
Estimate Std. Error t wvalue Pr{=|t]|)

(Intercept) 0.400 1.625 0. 246 0.8214
X 1.400 0. 383 1.656 0.0354 =
signif. codes: 0 “*#¥' 0.001 ‘**' 0.01 **' 0.05 “." 0.1 * " 1

Residual standard error: 1.211 on 3 degrees of freedom
mMultiple R-squared: 0©.8167, Adjusted R-squared: 0.7356
F-statistic: 13.36 on 1 and 3 DF, p-value: 0.03535
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ptGC(c(-3.656,3.656),region="outside",df=3,graph=T)
ptGC(c(-3.182,3.182),region="outside",df=3,graph=T)



t-curve, df= 3
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